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Computing
Open ‘air traffic control’ app in purple mash and complete the challenges to practise your coding skills.
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Addition and Subtraction:

End-of-Strand Assessment

Name:

Date:

1. Complete these calculations.

3+17=D
[J-ee

+
20C5=15

3. Writean

10—4—[:]
D=20—1

2. Write the missing symbol to complete each
calculation correctly.

w0 J2+s

addition and a subtraction
calculation to match these ten-frames.

2marks

2marks

4. Match the calculations to the
correct answers.

5. There are 20 apples on a tree. The farmer
picks 8. How many apples are left
on the tree?
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6. Faye buys two items at the shop that cost 8. Solve these calculations.
20p altogether.

Circle the objects she bought. D+ 2=8 =12 _D E

@ g é E 9. a) Calculate the value of the missing part
for the model.

Kai ate some and now there are only 3 b) Write four calculations that match this
squares left. bar model.

How many sares of chocolate did Kai - D
O e 5

O-

O-

7. There are 12 squares of chocolate in a
chocolate bar.
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10. Look at the scoreboard.

. Solve the part-whole model.

a) Complete the table and calculate the
total number of points for each player.

Plaver Round 1 | Round 2 | Total
Y Points Points | Points
Samira 11 3
Jacob 14 (o]
b) Who is the winner?

The winner is

because

12

13.

14.

Use the number line to solve this
calculation.

13-7=[:]

012345678 91011121314151617181920
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a) Fred and Zia have rolled two dice each.
What total did they each roll?

Fred’s Dice

LNy

Zia's Dice

LBy O

b) Zia rol[edD more than Fred.

Compare the bead strings and calculate

the difference.

Totsl
21wk
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Fix the Sentence

Can you help Mr Whoops to fix thes sentences?

Fix the Sentence

Can you help Mr Whoops to fix these sentences?

too children is plaiing in the gardon

alex and sid player wiv conkers in playground.
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Fish and Chips

Jan and Dan meet near the church.

They get a bus to the fish and chip shop.

Nan will join them too.

Jan gets cod and chips in a dish.
Dan gets chips and a fork.

Nan gets eel and chips.

Then they all go to the park.

Read Together Quick Questions

. Where did Jan and Dan meet? Tick one.

on the bus
at the fish and chip shop

near the church

. Find and copy the name of the fish that Jan has.

. Number the events from 1-3 to show the

order that they appear in the text.

Nan gets el and chips.
Dan gets chips and a fork.

They all go to the park.

. How will Jan and Dan get home from the park?

Tick one.

on the bus
in a boat
on their bikes
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Air Traffic Control





